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(1 point) Let w, z, y, z be vectors and suppose@ = —z + 3y an(g)u = -3z — 2y — 3=z.

Mark the statements below that must be true.

\/A. Span

B. Span
C. Span

\/D. Span

X, y) = Span(x, w, 2)3 solved below
X, z)= Span(y, w)
y, W)= Span(2) 3 Can be solved s,m'.l.,.ly to pact Aand .

y) = Span(w)

ap/ly the fo[/owz'vry theovews seen 10 clags

Theorem 2.4. Let S and S’ be subsets of a vector space V. If every vector in S is expressible as a linear combination of the

vectors in S" then span(S) is a subspace of span(S’). If in addition every vector of S’ is expressible as a linear combination

of the vectors in S then span(S) = span(S’).

A. Lits dedtrmnine whelieew SﬁW’ (197)5 5/"‘“4 (X,wJ)

X € 9pan (X, w,z) 5/:};-(, Xzl Xxtow+to2
& X w,Z) smet by @ 2z"X13Y
y fﬁﬂlﬂ [ / ) 7 37: x’_z
93‘%’( 4--;-7. .
y:-%){ +ow "‘i

Se Span(x,y) € 5pan (x,w,2)
Ltts debermwme whelher Slyau (x,w 2) € S/;an ()‘;7)

XE€ Span [x: ) 5,,;.4* x::-x+a'7
we S/Zm (x,;) simce 1€ we v © 1nte @ w=-?x—-27«3(fx4'?y)

: ;o’.lx )Y
ZE Spown (x,y) smest b,@ we have z=-X+3y
oo 9pov (x,w,2) € s/pom(x,y)
Lo pan(x,w,2) 2 S/aw(x,q)
B. Lets debtrming whethe 5/mn(x,z)£5/7aw{7,w)
X ¢ spon (9,w') vsmg @ and@ z=-x+3y 3_,_7 X +2 -y =0

awd W= -3IX-2y-32 3x +32+3y ~w =0
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wln-zln Im//’-f‘l tbmt X can be

wviltta as o (in. comb. ot
Zawd W or as o (im.comb of

Z and Y ¥ we Sullsﬁf"t\’- @lufo@

o’ span (X,Z) $ spou (%W) o g/am[x,z) 7 Span (y,w))



